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KENYA MEDICAL TRAINING COLLEGE-DEPARTMENT OF PHYSIOTHERAPY
FINAL QUALIFYING EXAMINATION
MUSCULOSKELETAL SCIENCE

Use the following statements to answer question 1.
I. Flexion at the knee is usually accompanied by medial rotation of the tibia.
II. Lateral rotation of tibia occurs during the last 30o of knee extension.

III. The knee is a compound joint.

IV. Most activities of daily living demand at least 110o of knee flexion.

1. Which statement(s) is/are correct?

a) I and II.

b) II and III.

c) III and IV.

d) All of the above.

2. A Physiotherapist wishes to assess the length of the upper fibres of left trapezius. Which of the following is the correct manouvre on the neck?

a)  Neck laterally flexed and rotated to the right then flexed while passive stretch is offered by depressing the left shoulder girdle.
b) Chin tucked in, neck flexed laterally to the right but head rotated to the left while depressing the left clavicle.

c) Neck laterally flexed to the right then flexed while passive stretch is offered by depressing the left shoulder girdle.

d) Neck laterally flexed to the left then flexed while passive stretch is offered by depressing the right shoulder girdle.

3. Which muscle length is assessed with the patient in supine lying, trunk stabilized while the shoulder is passively taken through full flexion and into elevation?

a) Clavicular fibres of pectoralis major.
b) Pectoralis minor

c) Sternocostal fibres of pectoralis major.

d) Subclavius

4. What test on the musculoskeletal system would a Physiotherapist be performing if she offered manual resistance to shoulder abduction?

a) C5 myotomal test.

b) Strength of the lateral fibres of deltoid.

c) Power of the lateral fibres of deltoid.

d) All of the above.
5. An objective examination of a patient may involve holding a patient’s hands then asking her to stand on her toes. What is the aim of such a test?

a) To assess a patient’s apparent height.

b) To test the S3 myotome.

c) To assess musculoskeletal function and motor innervation of the hands.

d) To test the integrity of S2 nerve root.

6. A patient is instructed into crook lying. He is then asked to move the right arm through full flexion into full elevation of the shoulder joint with the elbow fully extended. It is observed that the lumber portion of the trunk arches upward away from the plinth as he does this. What is the logical conclusion from this finding?
a) There is shortening of the right lattissimus dorsi.

b) The patient has adhesive capsulitis of the right shoulder.
c) There is shortening of the right pectoralis major.

d) There is a lumber disc herniation.
7. Your supervising Physiotherapist asks you to manage a patient complaining of right hip pain. You observe the patient walking with the right leg in lateral rotation. All the relevant tests do not elicit any nerve involvement. The Physiotherapist suggests to you that it could be a case of tightness or spasm of the piriformis. How would you confirm or rule out this?
a) 90o passive hip flexion then hip abduction with medial rotation.

b) 90o passive hip flexion then hip adduction with lateral rotation.
c) Deep palpation of at the ischial tuberosity.
d) Deep palpation along the line running from the iliac crest to the ischial tuberosity.

8. A patient is put on supine lying at the end of the couch with the right lower limb (which is flexed fully at the hip and knee) stabilized against the examiner’s side. What is the expected observation if the left rectus femoris is tight?

a)  Left hip adduction.
b) Left hip extension.

c) Left knee flexion

d) Left knee extension.

9. Which nerve root is assessed by performing an ankle jerk?
a) L4

b) L3
c) S2

d) S1
10. When examining the musculoskeletal system which of the following findings should be considered as less important and therefore not positive nor indicative of the presence of a lesion?
a) If there is body symmetry in most tests.
b) If a test reproduces all or part of the symptoms.

c) If symptoms different from the normal response are produced.

d) If the range of movement in the symptomatic limb is different from that of the other limb.

Use this information to answer questions 11, 12, 13 and 14.

With a patient in supine lying, a Physiotherapist rotates the hip slightly medially and then flexes the hip while keeping the knee extended. The patient then reports pain, a strong stretching and tingling behind the thigh, knee and at the back of the leg. 

11. What is this test referred to as?

a) Slump.

b) Supine slump.

c) Straight leg raise.

d) Prone knee bend.

12. Which additional movement should be included so as to sensitize the tibial nerve?
a) Ankle planter flexion and forefoot inversion.

b) Ankle planter flexion and forefoot eversion.

c) Ankle dorsiflexion and inversion of the forefoot.

d) Hip adduction and medial rotation.
13. Which additional movement should be included so as to sensitize the common peroneal nerve?

a) Ankle dorsiflexion and inversion of the forefoot.

b) Ankle planter flexion and forefoot inversion.

c) Ankle planter flexion and forefoot eversion.

d) Hip adduction and medial rotation.
14. Which nerve is sensitized by inclusion of hip adduction and medial rotation?
a) Sciatic nerve.

b) Deep peroneal nerve.
c) Superficial peroneal nerve.

d) Common peroneal nerve.

15. Which of the following tests is not helpful in examining the integrity of peripheral nerves?
a) Muscle power.

b) Skin sensation.

c) Deep tendon reflexes.

d) All of the above.

e) None of the above.
16. Which of these modalities of sensation must be given priority when assessing skin sensation?

a) Temperature.

b) Deep pressure

c) Light touch.

d) Two point discrimination.

17. In a clinically suspected nerve root lesion which of these tests should be performed to ascertain the diagnosis?
a) Dermatomal test.
b) Myotomal test.

c) Reflexal test.

d) All of the above.
e) None of the above

18. How many joints make up the shoulder complex?
a) 6

b) 4

c) 3

d) 2

19. Which of the following joints attaches the shoulder complex to the axial skeleton?
a) The sternoclavicular joint

b) The glenohumeral joint

c) The scapulothoracic joint

d) The acromioclavicular joint

20. Within which of the following ranges do activities of daily living involving physiological movement of the elbow occur?
a) Between 10o and 110o of elbow flexion.

b) Between 30o and 130o of elbow flexion.

c) Between 20o and 120o of elbow flexion.

d) Between 40o and 140o of elbow flexion.

21. If a patient complains of mild extension weakness and numbness of the left thumb, which non-electrical physical treatment would be appropriate for him?
a) Maitland’s Grade III inferior glide of the left shoulder joint.

b) Maitland’s Grade III passive accessory anterior glide at C8 nerve root.

c) Maitland’s Grade III medial glide, left metacarpophalangeal joint of the thumb.

d) Maitland’s Grade III passive accessory anterior glide at C6 nerve root.

22. Which neurological test is appropriate for determining the location of the lesion in question 21?
a) ULTT 3

b) ULTT 2b

c) ULTT 2a

d) ULTT 1

23. Which of the following is true about joint mobilizations or manipulations?
a) Several joints can be mobilized or manipulated with one manouvre.

b) Evaluation should not be performed while the treatment is on-going.

c) A medial glide can be performed from end-range lateral glide.

d) The stabilizing and mobilizing forces should act close to the joint.

24. Which mobilization force is appropriate for the management of gleno-humeral joint pain that is easily provoked and persists for a long time?
a) Grade V on Maitland scale.

b) Grade IV on Maitland scale.

c) Grade III on Maitland scale.

d) Grade I or II on Maitland scale.

25. If a patient presents with extension stiffness of the right wrist, which mobilization technique would be indicated?

a) Grade III antero-posterior glide of the radiocarpal and ulnocarpal joint.
b) Grade IV anterior glide at the wrist joint.

c) Grade IV posterior glide at the wrist joint.

d) Grade IV medial glide at the wrist joint.

26. Which muscle length is assessed with the patient in supine lying through lateral flexion of the neck to the right, flexion of the neck done concurrently with depression of the right shoulder girdle?

a) Left Levator scapulae.

b) Right Levator scapulae.

c) Left upper fibres of the trapezius.

d) Right upper fibres of the trapezius.

27. A sustained passive protraction of the shoulder girdle would be effective in offering stretching to short

a) Latissimus dorsi.

b) Levator scapulae.

c) Middle fibres of the trapezius.

d) Upper fibres of the trapezius.

28.  The incorporation of dorsiflexion and eversion in straight leg raising test sensitizes

a) The tibial nerve.

b) The common peroneal nerve.

c) The sciatic nerve.

d) The saphenous nerve.

29. Which of the following clinical features of disorders of the neuromusculoskeletal system cannot be determined through palpation?

a) Raised local temperature.

b) Bony contours or effusion.

c) Tenderness.

d) Pain.
30. A focus of increased irritability in a tissue that if sufficiently hypersensitive can give rise to referred pain, tenderness, autonomic phenomena and distortion of proprioception is otherwise known as

a) Trigger point.

b) Site of the lesion.

c) Catchment area.

d) Area of focus.

31. Which nerve is palpable between the first and second metatarsals, lateral to the extensor hallucis tendon?

a) Median nerve.

b) Common peroneal nerve.

c) Deep peroneal nerve.

d) Sural nerve.

32. Which of the following areas is not ideal for palpation of the radial nerve?

a) Around the spiral groove.

b) Between the brachioradialis and flexor carpi radialis.

c) In the anatomical snuff box.

d) Over the anterior elbow joint crease, medial to the biceps tendon.
33. An externally imposed, small amplitude passive motion that is intended to produce gliding or traction at a joint is referred to as 

a) Joint manipulation.

b) Joint mobilization.

c) Joint approximation.

d) Joint assessment.

34. What is a physiotherapist’s major objective during management of joint disorders?

a) Reconstruction of the joint.

b) Restoration or maintenance of joint mobility.

c) Maintenance of joint strength.

d) Joint manipulation.

35. A physiotherapist’s least concern when treating a patient with below knee amputation should be on

a) Prevention of dog’s ears.

b) Elimination of phantom pain.

c) Prevention of flexor contractures.

d) Prevention of extensor contractures.
36. Trendelenburg’s gait is suggestive of 

a) Weak trunk stabilizers.

b) Pain at any of the weight-bearing joints.

c) Weak hip abductors.

d) Weak hip extensors.

37. An arthrogenic gait is characterized by 

a) Steppege instead of heel-strike.

b) Excessive abduction in swing phase.

c) Assisted knee extension in the stance phase.

d) A very short duration of the stance phase.

38. Arthrogenic gaits result from

a) Pain in any of the weight-bearing joints.

b) Weakness of the knee extensors

c) Fusion of any of the weight-bearing joints.

d) Disorders affecting the lumbo-sacral plexus.

39. The deformity typical in rheumatoid arthritis and therefore serves as a significant feature for clinical diagnosis is

a) The dinner-fork deformity.

b) The swan-neck deformity.

c) The claw-hand deformity.

d) The ape-hand deformity.

40. Recurrent shoulder dislocation most often is the result of 

a) A shallow glenoid cavity.

b) Weak and lax periarticular soft tissues.

c) Weak and lax intra-articular soft tissues.

d) A large head of humerus.

41. Apparent lower limb shortening can be caused by

a) Fracture neck of femur.

b) Avascular necrosis of the head of femur.

c) Hip dislocation.

d) Osteogenesis impafecta.

42. Measurement taken from the navel to either medial malleolus assesses

a) True shortening of the lower limb.

b) Apparent shortening of the lower limb.

c) Apparent shortening of the leg.

d) True shortening of either femora.

43. How many joints make up the elbow complex?

a) 4.

b) 3.

c) 2.

d) 1.
44. Which of the following is the resting position of the knee joint?

a) 45o.

b) 15o.

c) 25o.
d) 90o.
45. Which of these vitamins can predispose to metabolic disorders of the skeleton, in circumstances of prolonged avitaminosis?

a) Vitamin K.

b) Vitamin D.

c) Vitamin C.

d) Vitamin A.

46. Your supervising Physiotherapist asks you to manage a patient complaining of right hip weakness. You observe the patient walking with an exaggerated wide step width. All the relevant tests do not elicit any nerve involvement. The Physiotherapist suggests to you that it could be a case of weakness of the gluteus minimus. How would you confirm or rule out this?

a) With patient lying prone, manual resistance is offered to hip extension.

b) With patient in side lying, manual resistance is offered to hip abduction.

c) With patient in high sitting, manual resistance is offered to hip medial rotation.

d) With patient in high sitting, manual resistance is offered to hip lateral rotation.

47. How is body symmetry examined physically?

a) Through comparison of physical findings in the limbs on either side of the body.

b) Through comparison of physical findings in corresponding parts on either side of the body.

c) Through comparison of physical findings in the upper limbs with those in the lower limbs.

d) Through comparison of physical findings in either side of the head and trunk.

48. Identify the musculoskeletal disorder(s) highlighted in the slide below.
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a) Torticollis with kyphosis.

b) Torticollis with lordosis.

c) Scoliosis with lordosis.

d) Torticollis with scoliosis.
49. Which is the most probable primary deformity (that is most likely to have precipitated the other) in the slide in question 48 above?

a) Torticollis.

b) Kyphosis.

c) Lordosis.

d) Scoliosis.

50. Which of the following may not predispose to postural anomaly?

a) Athropathy.

b) Psychosomatic involvement.

c) Change in muscle length.

d) All of the above.

e) None of the above.

51. Which intervention is most appropriate for treatment of joint hypermobility?

a) Involvement of the joint in more physiological movements.

b) Stabilization through strengthening of soft tissues working on the joint.

c) Joint compression and approximation exercises.

d) Passive accessory movements.

52. Which of these interventions is most effective for management of post-burns muscle contractures?

a) Passive stretching and free active physiological exercises..

b) Passive stretching with positioning and splinting.

c) Passive and free active physiological exercises.

d) Passive accessory movements and resisted exercises.

53. Which of the following musculoskeletal disorders would most effectively be treated using resisted exercises?  

a) Muscle atrophy.

b) Muscle guarding.

c) Muscle hypertrophy.

d) Normal muscle.

54. Which of these musculoskeletal disorders would most effectively be treated using a wall mirror or wall bars or a wall?  

a) Joint hypermobility.

b) Postural anomaly.

c) Pathological gait.

d) Joint hypomobility.

55. According to the principles of joint mobilizations or manipulations

a) A medial glide can be performed from end-range lateral glide.

b) Several joints can be mobilized or manipulated with one manouvre.

c) The stabilizing and mobilizing forces should act closest to the joint.
d) Evaluation should not be performed while the treatment is on-going.
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